Derivative rules (for review)

1.  For 
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Product rule –

For functions 
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Chain rule

If 
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Integral (Antiderivative) rules for review
1.  For 
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Where C is a constant

2.  
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Where C is a constant

3.  For 
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Where C is a constant

4.  
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Where C is a constant

5.  
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Where C is a constant

Factoring of a constant:
You can factor out any constant 
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from the integrand.  For general function 
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Integration by parts (derived from product rule)
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u- substitution (Find easy integrable function y to integrate)
For 
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let 
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 then use chain rule: 
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